=N

d(RARIL FE)

AL My R

EEW | BAREEMN | txB | d  |@HRLKFwR]| G I
20A 21 2.0x25 W3/8 M6 x 25 25 18
25A 32 2.0x25 W3/8 M6 x 25 25 81
30A 40 2.0%x25 W3/8 M6 x 25 25 85
40A 50 2.0%x25 W3/8 M6 x 25 25 91
50A 63 2.0x25 W3/8 M6 x 25 25 97
65A 15 2.0x25 W3/8 M6 x 25 25 104
15A 90 2.0x25 W3/8 M6 x 25 25 110
100A 125 2.0%x25 W3/8 M6 x 25 25 130
125A 160 2.0x32 W3/8 M10 x 40 32 148
150A 180 2.0x32 W3/8 M10 x 40 32 155
200A 250 2.0%x32 W3/8 M10 x 40 32 192
R AR RIKCPER/ VR4
HE SPHC R smEanox | 1
B bz RE BHE ik
B=fask
HE 10110017111 Revte A 1-3
- _ . SHEET
e R AT VIR RS anwss| A3




